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1 () wasud A2d g ? amondl. wulid Radd w3 Ad-is

() QA sl uefl aa-is WAl
%+t 60-64 | 65-69 | 70-74 | 75-79 [ 80-84 | 85-89 | 90-94
el dval |5 7 10 8 5 3 2
2Adl
1 () [vmdl 224 g 7 Rl wsidd sl
() Mu-d fyudis DAl e
wii(df ay) |0 [10[20]30[40][50]60]70]80
el aiva | 100 |98 [ 94 [ 84 64 [46 |26 |10 |0
2 (o) yaswis Aed g ? Al aalisdl eeud.
() Ip, Ip, Ipg, Ip, Iy < 2@l &30 ¢
54 | s 2013 2014
JIE] g2\ CIE] g
1 |20kg | 400 15kg 5.60 22 kg
2 |Kg [7.20 8 kg 9 9 kg
3 [dex [35 30dl.  |5.10 364,
4 | o 24 10 <21 36 8 ol
5 |dex |6 1200 a4l | 7.20 2000 2+
2Adl
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2 (a) yaswis ed g ? A+ el el 8
(o) 2 s s suell 3. 1,750 2 A sl YAsAis 12
136 €14 dl B 21 C g+ AUa Hed )l ¢

axg A |B [c [D [E
ar (W) [700 |- |- 180315
I 180 | 150 [ 100 [ 110 | 80
3 () dslad ML AW AR 1 w9 Medd uglizl, 5
() Au[RAl vaelsl = N = (6, 5, 9, 14, 16) 10
Fednsl b1l 0 n = 3 (yrael Asq)
k) :
Q) wule s () wdl= [
(i) [Med wua-Al wws (v) el weuhld [Jarel.
9qL
3 (a) (el 2@ g 7 au-l ugliadl 2sdi auandl. 5
(o) vedl wuledl Aad : 10
Yu | vadlsdl | wes | Med | R
1 |40 5 |8 |10
2 |30 - e |8
- 6 6 -

N =100, 3 =5.9, v(¥,;) = 0.364

4 (1) uedold AN2d g 7 Bl wHA WAl 5
() uedioln (1) Aad) : 10
Y
D 10-20 | 20-30 | 30-40 | 40-50
0-5 |4 6 ; ;
510 |3 7 5 ;
10-15 | - 8 2 5
15-20 | - ; 5 5
9qL
4 (21) dslad U : A6 - Mud dein 5
() [(ad el wd{lsw) 3x + 2y — 26 = 0 A 10
6x +y — 31 = 0 vl qaql :
@ w8l (xY) G) byx, bxy, r

(i) v < ARl AR V) = 25 &ld AR.
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ENGLISH VERSION

Instruction : All the questions are compulsory.
1 (a) What 1s Dispersion ? Explain Standard Dewviation 8
and C.V. in detail.
(b) From the following data, find C.V. 12

Weight | 60-64 | 65-69 | 70-74 | 75-79 | 80-84 | 85-89 | 90-94
No. of

5 7 10 8 5 3 2
Student
OR
1 (@) What is skewness ? Explain types of skewness. 8
(b) Find Pearson’s coefficient of skewness. 12
Marks
0 10 {20 {30 |40 |50 |60 |70 |80
(More than)
No. of
100 198194 |84 |64 146 |26 |10 |0
student

2 (@) What is index no. ? Write characteristics of index no. 8

(b) Calculate I;, Ip, Ipg, Iy and Iy 12
No. | Unit 2013 2014
P Q P Q
1 [20kg | 400 15kg 5.60 22kg
2 [Kg [720 8 kg 9 9kg
3 Litre 35 30 Ltr. 5.10 36 Ltr.
4 Dozen | 24 10 piece |36 8 piece
5 Metre | 6 1200 cms | 7.20 2000 cms
OR
2 (a) What 1s index no. ? Explain uses and limitations 8

of index no.
(b) Find the relative importance of B & C if salary of 12
the worker is Rs. 1750, and index for the month is 136.

Com. A B C D E
Exp. (W) | 700 | ? ? 180 | 315
Index 180 | 150 [ 100 | 110 | 80
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3 (a)
(b)
3 (a)
(b)
4 (a)
(b)
4 (a)
(b)

Difference:

Simple and stratified Random Sampling Methods.
Population observation (N) = 6, 5, 9, 14, 16.
Sample size = n = Three (Without Replacement)
Find :

@ POP. Mean

(1) POP. Variance

(1) Mean of the sample means

@iv) Variance of sam. means

OR

What is sampling ? Explain Sampling Technique
in brief.
Find the missing values.

Gr. | Observation | Mean | Sam. Size | Variance
1 40 5 8 10
2 |30 %) |6 8

() 6 6 ()

N =100, 3 =5.9, v(¥,;) = 0.364

What is correlation ? Explain types of correlation.
Find % :

Y
X 10-20 | 20-30 | 30-40 | 40-50
0-5 4 6 - -
5-10 7 5 -
10-15 | - 8 2 5
15-20 | - - 5 5
OR

Write difference between correlation and Regression.

Regression lines are 3x+2y—26=0, and
6x+y—-31=0, find

(@) Means (x,7Y)

@) byx, bxy, r

(1) Variance of y when V(x) = 25.
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